1.9 B B R’ .

% (F) B2 4ma 20 EHRALE 0 o

{llgﬁFiI%ﬁg

1¥Eﬁ IEEéE%ZK P22 % ARz ke fpt  RERAP2 N PR
IS 1 BE= R o
{0& » AABC 1 » % BD =6 DE =9 - ﬁl ABC 1 » 45 BD * DE : EC =
CE =3 > o 5: —K
A 4
B E ¢ B///;;i?%\c

(1) AABD E1,\ADE fyEIFELL -
(2) \ABD 1 AADC HYEIFELL - (1) AABD HyHEITH © AADC HYEITH -
7] (2) NADC HYHITE © AABC HYIHIFE
2 YEEEDY
HfE > AABC > % AABC HfEk 30 » ABCD HYHEIfE & 20 - 3K
(1) AB : AD fiJkh( - o

(2) AD : BDJLL(E -



1. 40E - 240 LM > E_E . mﬁ}?”?%&
/\DEF [ifif& 5 30 » HIBC : EF = ?
A D

b

q
BG C E HF

2. 4@ > B4 LM > H AG ~ DH S3RIEA
ABC -~ ADEF fVr5 > 75 /\ABC FVHITE & 77

/\DEF HJHif& 5 44 » AIBC @ EF = ?
A D

b

B G CEMH
3. 48 - B0 Li//L, » AB =6 > CD =4 >
HIlAABC f1ifEiféE : /A\BCD fyiaEifE= 2

A B

F

C D
4, 41[E > B4 Lsl/Ls » EF =18 » GH =10 »
HIAEFG MVHTE © /A\FGH IHEfE= ?

E F

G H

5. 4fE > B0 Li//L, » PQ =14 > RS =35>
AIIAPQR HYHfE : /A\QRS HYHifE = ?

L4

6. 4f& > AABC 1 » D 5 BC Lg% »
#BD : DC =6 : 5 3¥/AABD E1ABCD
HITEFELE -

/A\
B D C

. #1E > AABC 1 > D 5 BC Ffy—%8 -
#BD : DC =9 : 7 3k /AABD Ei1AADC
HITEIFELL -

ﬂ/\
B D C

. W@ » AABC 1> D B BC [f)—EE »
#BD : DC =8: 11 » 3k AABD E1,AADC
AHEFELL -

A
B D C

. #lfE » AABE &1 > #5BC =1 /A%
CD=2/3%y » DE =34 » K :
()AABC HYHEIFE - AACD HYHIFE °
(2)\ABD Hy[HiTE : AADE HYHIFE ©

%A\
B¢ 5 E

10. 41 » AABE /1 » 35 BC =3 44) -

CD =544y » DE=7 /%y K
(L)AABC HyMHIfE © AACD HYMHIFE
(2)/\ABD HY[HIf& : /\ADE HJHIFH

B C D E




22 FIRELAIRE ~

1 4 > AABC® »P~QAu % AB ~ AC 1 ¢- 8 » % PQ//BC - R
@ AP : PB=AQ : QC -
@ AP : AB=AQ : AC
®PB : AB=QC : AC ©

@PQ : BC=AP : AB=AQ : AC - B ¢
2. 4eWl 0 B Lol Lol Ly © A wlgn 5 My 2 % 7/ \\DE L
B
A-B-C=g > B#&5 M 2> D-~-E~F=2> / \ Lo
- C F
B AB : BC = DE : EF - 7 — L
k M1 M. /
1¥EE§ IEESE%ZK P26 T 5 AL S BSR4 P26 1 2h 43k
B 2 45 22 B 2 45 28
#E > AABC 1 > D ~ E BiBESTRILE AB & - AABC H > D ~ E WL HIAE AB -
AC > DE//BC > 2 AD =15 DB =10 BC I-» DE//AC » 3% AB =36 > BE =12 >
EC =16 3¥ AE - BC =27 > 3k BD -
A
A
D
D
B E B
E
c C
fi%] %]
WYY
A& > AABC 1 > D ~ E %L BIfE AC ~ BC | » DE//AB > A
+AD : AC=2:5> BE=8: H|BC = . D
C
B E



1. #1E - AABC 1> P~ Q WELSTRIFE AB
AC | > #PQ//BC » AP =8 PB=12"
AQ=10-3kQC -

/AN
/ ,

6. 4IiE > AABC 1 > D ~ E FiBESMFIAE AB ~
AC > =DE//BC » BD: AB=3:5>

AC =40+ 3K AE © A

D

O

C B

2. #IfE » AABC 1> P~ Q MiEESTHILE AB
AC I~ > #PQI//BC » AP =12 PB=9>
AQ=8"KQC -

3. 4 » AABC 1 » P~ Q W%/ BI{E AB ~
AC I+ #PQ//BC - AP =14 AB =42 -
AQ =12 K AC -

A
A
B C

7. 4@ » AABC 51> P~ Q FEESTRILE AB ~
AC - > #PQ//IBC » AP : PB=4:5"
AIJAP : ABFI1PQ : BC 4RIl Ay ?

A

.\

Q

B

8. #IE » AABC it > D - E RiBE5YHIIFE AB ~

AC > *DE//IBC » AD : DB=5: 2>
HIAD : ABFIDE : BC 4Bl Afd ?

C

C
/Q(\
A P

4. {8 > AABC 1 > P~ Q FEE5THIAE AB »
AC - #PQ//BC » AP =6 AB =27 -
AQ =43k AC -

A N

9. #IfE » AABC tf » DE//BC » 35 AD =30 >
BD=6° BC =18 » EC =4 >

~
A4

c
/\3
B P

5. 40IfEl » AABC ot > D ~ E Ri%55HI{E AB
AC | #DE/BC »BD: AB=4:7>

AC =35 3K CE o .

N\

E

K AADE EE - A
D %E
B /c

10. & » AABC 1> DE//BC » 35 AD =8 »
BD=12: BC =15+ EC =18 >

K AADE Y EE - A
B C

S



BC &R A P28
BE= R 2
40 » AABC i > D ~ E RIBEPHITE AB -
AC > DE//BC » 75 AD =12 > DB =8>
BC =30 > 5k DE -

2 1EE

T F AL G SE H oS 7R P28 1 2 4

BE

4IfE » AABC 1 > D ~ E RiEESTHI{E AB
AC I+ DE//BC » %5 AD =16 » DB =12 -
DE =3x+2 > BC =6x—1 3K x fiyfH -

A C
m//\\\\E :
L :
A > B
- 2
Bﬁ% I?EESE%ZK PO T {7 At IR B E L& R P29 S

W& = 4 2
YHE > EAR Mu// M2/l M3 > H 5y RIEREAR L
ATHYA B~ C =85 B LTI D E -
F=%L, %“AB : BC—=2:3> DF =30 -

K DE ELEF -

A D
i 1w
B/ E
M2
C/ F
/ 3
Ly L,

BE 4
AR - B4 Mu/l M2/l M3 » B 45 RIELE 4R Ly
ZHYA~B~C =& BEEE LA D~ E~
F =%, 7= AB =10 > BC =15 DE =Xx+5
EF =3x—3 - K x fH -

™ v o,
B E M,

C/ -
/ s

L1 L,



W > Lallof/ls » 5 AB =x+1> BC =4 »

DE =2x—2 s EF =6 » ¥ X {Y{H -

Al \ D

B/ \E
c/ \F
/ \

. WIE o Lollol/Ls » 35 AB =12 » BC =9 >
DE =2x+2 EF =x+3» ¥ X {{4 -

A D,

\ 4

e
\

CWIE > Lallol/ls » 5 AB : BC =3 : 4>
DF =42 s 3k DE -
Al /D
3 A
c/ %
I /

. W o Lllol/ls » 5 AB =18 » BC =12 »
DB =2x+7» BE=x+6 3k BE -

B > Lulol/LsliLs - 75 AB : BC : CD =
2:3:4> EH =81 3fGH -

Ay

B

H

A"
\\

1

-3

-4

6. 4 > La//Lal/Lsl/Ly » Z5EF =6 > FG =8 >

GH =12 > CD =18 > 3k AB f1BC -

A/
B/

\E
\F
c/

\G
o/ \u

" /

\

. WIE » Lu/lLaof/LsliLs > 35 AB =16 » BC =8 >

CD =20 EF =24 > 3¥) FG fIGH -

A /E
B /F
c /G
D H

/

. WIE > Lulllo/ILsllls » Z5EF =6 > FG =6 >

GH =15 CD =20 ¥ AC -

CWIE o LllLal/Lslils > 75 AB : BD=5:8 >

AB =20> FH =24 > sk ADFIEH -

A E

10. 4B » Lo//Lal/LsllLs » Z5EF : FG : GH =

5:3:1> BC=45>KAD -
A JE

Ly
Lo
Ls

L4

L1
)
Ls

L4

L1

Lo
Ls

L4

N

NI

D /H
/



4@55 BCRRRA P30 fi» T (74 0 b A BARE PEESE%ZIK P30 1 2
I 5 e AR
HE > BRI NHEEE » 16 AB IR —B5 | 408 > T AB > FIIF REHERE - 1F AB F3%
C: #f3AC : BC=4:2¢ H—BEC > {§i{5AC 1 BC=1:3>-
sk (AEEEER)
(1) A BE/E— (550 AB HYE 4 L - iz
(Q1F L _FARFFHLP, ~ P, / B » 15
A_P1 =PRP,=PFPP =P,P,=P,F=
P.P, o
(3) 5% PB - A 5
(4)iBP,{EPM /IPB - {P,M EL AB %jf* C
BE > FIl C BEHTAFK -
A B
/13. A R EE Bl 4R B RIS AT ~
1. 4c®l > AABC ¥ P~ Q@A 24 u & AB ~ AC }+ » &
AP : PB=AQ : QC > PB : AB=QC : AC -
7 PQ//BC - ) 7l PQ//BC -
2. 2 £ BV M T EN R F o PR R R FR - Lo
\ J




4 REREPS g pmpu gzt RAREPS iR

flEe - CETE _\
417 - AABC 1> % AD =14 > DB=8- |4l » AABC #1 > %AD : AB=5:11"
AE =21 EC =12 AIDE#BC /2577 | AE 15+ AC 33+ | DE 51BC & 77 7
Sl Bz 2
C
A

A D B
N EEEE
1. 41 » AABC h » 2 AB —40 » DB—22 » AC —42 » EC —24 -
i DE /2 45 SE{7 12 BC 2 Ayft i 2 R
D E
B C

2. ANABC 1> F45 L 43BIZE AB ~ ACHAE ~ F Wi%h » = AB =15+ AE =5+ AF =9 -
HIJAC = » A EL L F4FBC -



1. ANABC 1> D~E 43515 AB ~ AC |—&E »

[ A1 RRE
(1)75 AD =5+ DB=10+ AE =6 » EC =
12+ H|DE 81BC 2&¥(7 ?

(2)7= AC =15+ EC =10> AB =16 DB =
12> Ji| DE 81 BC 24T ?

(3)7= AB =24 > DB=15> AE =

’

9
o 2
AC =12 > HI| DE 81 BC 2 &F1T ?

(4)% AD : DB=6:5> AE =10+ EC =
12> HI|DE #1BC & &1 ?

(5)7AB : DB=5:2 AE : AC =3:5 >
I DE £ BC /2 5¥47 2

2. /\ABC tft » F4 L 5312 AB + AC A E -

F %> 5 AB =12 AE =4 AF —6
FI# AC Fy% /Ui » Bl 4% L {7 BC ?

. AABC 1 H 4 L 435132 AB ~ AC JA E ~

F /%L > 22 AE =9 EB =15 AC =32 >
HIl% AF B52%%/D% > Al E 4% L SE47BC ?

. AABC 15 Ei4 L 233152 AB ~ AC A P

QFiEE » Z5AP : PB=6:7 AQ =30
A& AC 2 /D% » FIIEL4R L SFA7BC 7

. AABC 1> F4 L 53HI5C AB ~ AC AP »

QWi%h» #AC : AQ=4:3> PB=8" HI
& AP By % Vi > Al E 4R L T BC ?

. /AABC ot » F4 L 535152 AB « AC AP ~

QFi%E» AP : AB=2:5 QC =21
Rl AQ B2/ Vi » T E 4% L ¥ BC ?



%asE RERKPS = 275 f¢ mapmpf REREPS o mug
B 7 B R
& > AABC H1 > D~ E c 4@ » AABC F1> D~ E A
43305 AB ~ BC HyHE) - F 43715 AB - BC ~ AC
#DE =16 5K AC - E | HPEE - B AC =28 A% 3
BC =24 1A%y > [a% 51
A 5 B | [yEH : B £ C
(1) PO DECF 275 K AT IS 2
i) Ry ?
(2) 2 DECF yE& /% /Ay ?
Bﬁﬁ IEE/SE%ZL‘ P36 = 4253 ¢ Bab AP e EERA PG 25 46k

B 8
4E - AABCH1 > D~ E
SR AB ~ AC ()i
F~G451%AD - AE
ik » EFG =25
DE + BC -

A

10

ME= R

g - AABCH - D~ E
53Rk AB ~ AC fyHhE »
F-G4R1kAD ~ AE [
th®f > 75 DE =18 5 3K
FG +BC -




#H

“DE =12 > 5k BC - B F - G 4yHIk AD ~ AE i 7 FG
A 4, A
¥ DE -~ BC o = G
D E D E
B C
B C

2. {ifE » AABC tf>D & AB f1%E > DE//BC >

#BC =12 R DE - A 7. 4@ - AABC > D~ E 435I AC - BC
1%k F~ G 4351k DC ~ EC H%; - % DE
D E =2 A
KFG ~ AB -
B C D E
F G
3. 41E> AABC 1> D~E~F 5371k AB ~ AC - %
BC fJ%f » 7% DE =8 » DF = EF =10
KROABC R - c |8 4@ > AABC > D~ E 43Ik AB ~ AC
SR
Z F| F-G43Hik AD ~ AE H1BE » 75 BC =52
sk DE + FG - A
A D B Ao
D E
4. W@ > AABC 1> D ~ E ~ F 43 fl i i }
BE > %5 /\ABC HYfE-E B 26 » 5k /A\DEF #yJfH
e )
9. 4IfE - AABC tf » D~ E 4355 AB ~ AC
D E g
P~ Q45 DB ~ EC H%h > # D
B = c KBC+ PQ -

5. #4E » AABC d1 5 ~ABC=90°> D & AB p
ffyrfi®k > DEJ/BC » 3 AD =125 DE =5 > )
K AABC HEE - A

10. KE O » AP : PB= 2
D E

11



n 1-2 E %Fgﬁﬁ N FE&sRA P38~39 HEEIE

1. 4@ » AABC 1 » 3CE =8 » AE =CD =16 » BD =24 » AADE {yifif& S 100 » 3 :

(1) AADC T&if& -
(2) \ABC TEif# - A
E
B D C
2. 4 » AABC 1 » DE//BC » %5 AE =12 » EC =20 » DE =9 » DB =15+
SKAABC 1 EE o
A
B C
3. 40 - M1~ M2~ Mz~ Ma B Ry EL&R » Mu// M2/l M3/l My > e/ |A,,
—_ [ E— 1
B4 LBl L, BElsRc B5EF - FG : GH=3:5:7"> c 5
AD =45 > 3¢ AC f1BD - / M2
/G C Ms
e

L1 )

12



4. 4@ > E41/AABC » [A)E T %I -
(1) A RGBS E P BRSE ElE -
@ 78 A BEHF—RE ABIVESR L -
@ 1E L FAKFELPL ~ P2~ P3~ P4 UL
@ET:JE‘A_Pl =RP, =Pk =FRP, -

® #Hif%EPB - B
@ 8 PsfEPR,D//IP,B » %5 AB > D B -

() 1E g5k E
@ AP, : PP, =
@ #$2CD - HIAADC HifEifE : ABDC HyififE=

5. 471[8 » A\ABC th > D~ E 43l AB ~ AC fyth®i » F + G 43715 BD ~ CE fiyrh®; »
¥ DE =12 » ¥ FG -

13



